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N: aucun linearisation 3D (OL) dans fichier (F) ou PS-startup (S), page 1/1
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rgb', and CIE data of a elementary (¢) hue circle
according to CIE R1-47:2009 forsRGBdisplay L, =5%

16 step elementary hue circle with huedigs o= 25, 92, 162, 271

@ae Dae Clanae Mane fOb'e

676 322 749 255 10000000
524 4715 707 421 10002500
334 854 647 589 10005000
161 630 650 756 10007500
28 717 717 922 10010000
281 781 830 1097 0751000
549 722 907 1272 0501000,
704 497 862 1447 0.251000.
-S89 188 619 1622 0001000,
459 78 465 1896 0001000,
313 235 302 2169 0001001
173 359 398 2442 0000501
15 511 511 2716 0000001
483 830 %1 3001 0500001
844 -514 988 3286 1000001
723 37 724 3570 1000.000.

5 step equidistant grey scalet* = 26.8,43.9,61.1,78.2,95.4

rgb', and CIE data of a elementary (e) hue circle
according to CIE R1-47:2000 forsRGBdisplay L,

3 colours of the elementary hueRYGE Nap q.0= 25, 92, 162, 271

Uae e bae Clarae Mane fab'e

550 676 22 749 255 10000000)
0SR*05N 409 338 161 374 255 05000000
0SR+0SW 752 338 161 374 255 10005005
YOG =Y, 842 28 717 717 %22 10010000
05%+05N, 555 14 358 358 922 05005000
05%+05W898 14 358 358 922 10010005
GO0R,=G, 858 -S89 188 6L9 1622 0001000
05G+05N.563 294 94 309 1622 0000500,
05G,+05W006 204 94 309 1622 0501000,
BOOR,=B, 624 15 -5L1 S5L1 2716 0000001
0SB+0SN. 446 07 255 255 2716 0000000,
0SB+O5W789 07 255 255 2716 0500501

5 step equidistant grey scalet* = 26.8,43.9,61.1,78.2,95.4

rgb', and CIE data of a elementary (¢) hue circle
according to CIE R1-47:2009 forsRGBdisplay L, =20%

16 step elementary hue circle with huedigs o= 26, 92, 162, 271

code Vae @ae bae Clarae Mane fab'e

ROOY,=R, 656 445 212 494 254  10000000)
R25Y, 711 313 284 423 422 10002500)
RSOY, 756 207 344 402 589 10005000)
R7SY, 803 103 404 417 756 10007500}
Y00G=Y, 862 ~-19 478 478 923 10010000
Y256, 920 200 57 592 1007 0751000;
Y506, 892 -383 504 633 1272 0501000;
¥ISG, 868 537 379 657 1447 0251000
GOOR,=G, 876 -449 144 471 1621 0001000
Gzse, 891 -357 -60 362 1896 0001000,
GS08, 838 242 -182 303 2170 0001001
G5, 776 131 273 303 2442 0000501
BOOR,=B, 703 11 385 386 2717 0000001
B2SR, 581 335 577 663 3001 0500001
BSOR, 691 604 369 708 3285 1000001
BISR, 665 498 26 499 357.0 1000000,

5 step equidistant grey scalet* = 52.0,62.8, 73.7, 845, 95.4

g, and CIE data of a elementary (¢) hue circle
‘according to CIE R1-47:2009 forsRGBdisplay L,

0%

3 colours ofthe elementary hueRYGE: Nap a.e= 25, 92, 162, 271

code Lae @ac Dae Clanae Mane 1%
ROOY,=R, 656 446 212 494 254  10000000)
0SR.*O5N. 588 223 106 247 254 05000000
05R,+DSW 805 223 106 247 254 10005005
YO0G=Y, 862 -19 478 478 923 10010000
05%.+05N 691 -09 239 239 923 05005000
05%+05W 008 09 239 239 923 10010005
GOOB,=G, 876 -449 144 471 1621 0001000
05G,+05N, 698 224 72 235 1621 0000500
05G+05WOLS 224 72 235 1621 0501000,
BOOR,=B, 703 11 385 386 2717 0000001
05B+0SN.6LL 05  -192 193 2717 0000000,
05B+05W 828 05  -192 193 2717 0500501

5 step equidistant grey scalet* = 52.0,62.8, 73.7,845,95.4
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Code Vse @ae D'ae Clanae hane fab%e @ae Dae Clanae Mave 190 Use @ae D'ae Clanae Mane fGb%e Code Lae Nane  1gb%e
OV =N, 268 00 00 00 00 00000000 00 00 00 00 00000000 N,520 00 00 00 00 00000000) |NOOOW=N,520 00 00 00 00 00000000 =,
NOZSW, 439 00 00 00 3253 02502502 00 00 00 3253 02502502 68 00 00 00 325102502502 |NG2SW, 628 00 00 00 351 02502502% (D
05 611 00 00 00 3251 05005005 00 00 00 3251 05005005 737 00 00 00 347 05005005 | NOSW 737 00 00 00 3247 05005005
NOTSW, 781 00 00 00 3237 0.750.7507 00 00 00 3237 07507507 845 00 00 00 3238 075075073 | NOZSW, 845 00 00 00 3238 07507507 &
NIOOW=W 954 00 00 00 00 10010010) | NIOOW=W, 954 00 00 00 00 10010010 |NOOW=We94 00 00 00 00 100100100 | NIOW=We %4 00 00 00 00 10010010) =
ASSI0IN, LABTaA, ASSI0-AN, LABTaA, ASIITIN, LABTaG, ASSIT=AN, LAB. o
g

rgb, and CIE data of a elementary (e) hue circle rgb, and CIE data of a elementary (e) hue circle rgb, and CIE data of a elementary (e) hue circle rgb, and CIE data of a elementary (€) hue circle
‘according to CIE R1-47:2009 forsRGBdisplay L, =10% according to CIE R1-47:2009 forsRGBdisplay L, =10% ‘according to CIE R1-47:2009 forsRGBdisplay L, =40% according to CIE R1-47:2009 forsRGBdisplay L, =40%
16 step elementary hue circle with ety o= 25, 92, 162, 271 3 colours of the elementary hueBYGE N 0= 25, 92, 162, 271 16 step elementary hue circle with ety o= 25, 92, 162, 271 3 colours of the elementary hueBYGE Ny g6~ 25, 92, 162, 271 "
Code Vae @ae D'ae Clanae Nane 19b%e Code Vae @ae D'ae Clanae Mane 19b%e Code Vae @ae D'ae Clanae Mane 190%e Code Vae @ae D'ae Clanae Mane 190%
ROOY.=R, 568 568 280 652 254 10000000D | RODV,=R, 588 568 280 652 254 10000000D | ROOY.=R, 772 244 16 271 254 10000000 |ROO%=R, 772 244 116 271 254 10000000
R25Y, 46 431 390 581 421 100025000 |0SR+05N 484 204 140 326 254 05000000D | RS, 802 176 159 237 421 100025000 |OSR,+0SN734 122 58 135 254 05000000
RS0, 708 279 464 542 589 10005000D | OSR,+0SW77.1 204 140 326 254 10005005p |RSOY, 828 118 196 229 589 10005000 | O0SR+0SWE63 122 58 135 254 10005005
RIS, 771 137 536 553 756 10007500) 75, 856 59 233 241 756 10007500
YOG=Ye B9 25 622 622 923 10010000D | Y0G=Ye 849 25 622 622 923 10010000D | YNG=Ye 890 11 281 281 923 10010000D |Y00G=Y, 890 -L1 281 281 923 10010000
¥25G, | 921 250 696 740 1007 07510000h | 05%+O0SN 614 -12 311 311 923 05005000D |Y25G, 939 124 345 367 1097 07510000 |05%+05N 793 05 140 140 923 05005000
YS0G 878 -85 627 01 1272 05010000D | 0SY%+0SWS01 -12 31 311 923 10010008 | VSR  SLé -235 09 388 1272 0S01000(h |O0S%+0SW22 05 140 140 %23 1001o00sp
Y756 854 646 456 791 1447 0251000, Y156 894 348 246 426 1447 0251000, c
GUOR=G. 864 540 173 567 1622 0001000 84 540 173 567 1622 00010000 |GOOR=G, 900 291 93 305 1622 00010000 |GOOR=Gy %00 291 93 05 1622 0001000,
G2 881 424 72 430 1896 00010005 | 05G+0SN 622 270 86 203 1622 00005000p | G2 910 -237 -40 240 1896 00010005 | 0SG+0SN798 -145 46 152 1622 00005000y 00
508, 815 288 217 361 2169 0001001Gh |05G+0SW09 270 86 283 1622 05010005 | GSOR, 677 -160 -120 200 2169 0001001 05G,+05W027 145 46 152 1622 0501000, 3
G7SB, 741 -158 -328 365 2442 0000501 G758, 37 -85 177 197 2442 0000501
BOOR,=B, 652 14  -467 467 2717 0000001(D | BOR.=B, 652 14 ~467 467 2717 0000001 BIOR:=B, 791 07 248 248 2716 0000001 BIOR=B, 791 07 248 248 2716 0000001 o
B25R, 468 443 762 832 301 0500001h | 0SB-OSN.5L6 07 233 233 2717 0000000 B25R, 731 107 339 392 3001 0500001 058,405\, 744 03 124 124 2716 0000000, @
BSOR, 636 756 -461 BA6 3285 10000010D | 0SB+05WB03 07 233 233 2717 0500501 BSOR, 784 360 225 432 3285 1000001 056,+05W 872 03 124 124 2716 0500501 =
B7SR, 602 638 -32 639 3570 1000000, B7SR, 770 205 ~-15 205 3570 1000000, @
5 step equidistant grey scalet* = 37.9,52.3, 66.6, 81.0, 5.4 5 step equidistant grey scalet* = 37.9,52.3, 66.6, 81.0, 95.4 5 step equidistant grey scalet* = 69.6, 76.1, 625, 83.9, 5.4 5 step equidistant grey scalet* o= 69.6, 76.1, 825, 8.9, 95.4. o

Use Sae Dao Claae Mane W Code  Lue ae Dae ClanaeMame W de e Tae Dae ClanaaMae W Use Sae Dae Caae Mane W o
NODOW=N, 378 00 00 00 00 00000000) | NODOW=No 379 00 00 00 00 00000000 |NOOOW=N, 696 00 00 00 00 000000000 |NOOOW=N, 696 00 00 00 00 00000000 -
NOZSW 522 00 00 00 3255 02502502% |NOZSW, 522 00 00 00 3255 025025024 |No2SWe 761 00 00 00 3256 02502502f | NOXW 761 00 00 00 3256 025025024 (P
NOSOW, 667 00 00 00 3244 050050050 | NOSOWL 667 00 00 00 3244 050050050 |NOSOW 825 00 00 00 360 05005005) | NOSOW 825 00 00 00 3260 05005005f I
NOTSW,  BL1 00 00 00 3247 075075074 |NOTSW, 811 00 00 00 3247 075075074 |NO7SW, 889 00 00 00 342 07507507% | NOSW B89 00 00 00 3242 07507507
NIOOW=W, 954 00 00 00 00 10010010) | NIOOW=W, 954 00 00 00 00 10010010 |NOOW=We954 00 00 00 00 10010010) |NIOW=W,S54 00 00 00 00 10010010}
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"ASO30-TN, [AB"Ia5, adapted=not adapied

TUB-test graphique AS93; CIE data sRGB display

ASO30-GN, [AB"Ia5, adapted=not adapted

ASOIT-TN, [ABaT, adapted=not adapied

ASO3T-GN, [ABaT, adapted=not adapied,
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entréew/rgb/cmyk —> w/rgb/cmyk

/f
o

elementary hue circle; mixture colours; Lr=5 to 40%  sortie: aucun changement
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